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Convert array into heap \
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1. If 2i+1 < n—1, then a; < agi+1.
2. If 2042 <n—1. then a; < as;+o.
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Merging tables Y
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Froggie Y

S9azm 3,13 (63938 (55 5l gz Lol 35 55 s 4 dalgsn 515 sla osS50 51 s S8
ud)ob).m,u).m 3)92J|.LQL§)|.\AA9.L§;_°.99J.>9.>L)LM9.>4:L> .>o| U"’)JWI
5 Ladis aaby w|6)).-|.x:>|9&._]_sLu|_xc.x.>|9).a§3)_..i~né|)s)|6)f|.\>|9gﬁ.
o.,\.,.i:o)bgl6})|9%B)|§|}@9|¢Lﬂbk§)9)9)3 J.\M)JAJL}AJJ')BA{LSI‘\J;
uLw:g.) Gl s el LJMA’B JALW Ui’ &S ol sl 5299 5> 4.:' T 99 e o
6l of )g,\,|,,.%;|,sqfwl@|,\; ke Sls 5,6 3 b s bl > S
4.:.\.»|9w§|).9;|9.).u|3;)4 °|))3Ls{l)-9L5L°b°-99-’3|J‘-’-’-'\:‘L.’Ls?9)’)3 2,950

_X:ub)f).:b_\.).kcm)a‘bl?

dged (59,9 Dgad (579 >

25 10 2
20 5
10 10
22 2
23 4

LS b s (5 eskS Vv g (5 egkS Ve s Blgie S8 s



Parallel processing' f
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